Moles / Balancing Practice / Review Name Block
Atom counts - List elements and number of each element.
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5, 6) Balance each equation.
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7. Balance the following reaction, then prove that mass is conserved
(add up total mass for each side of the reaction). Show work.
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Substance Formula Molar Mass Amount in moles Amount in grams
8) NH; ! 395¢
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Mole Ratios
12) How many moles of MnClz are produced when you react 2.80 moles of HCI? Show work,

MnO; + 4HCI = MnCl; + 2H,0 + Cl;
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13} If 1.21 moles of C;HzN are burned, how many moles of H,0 are released?

4C;HiN + 130, -> 8C02 + 6H,0 + 4ANO

121l G 6 el 50 = [.815 mol H;0
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Mass to Mass Stoichiometry
14} If you formed 83.7 g of XeOs, how many grams of XeFs did you start with? Show work.

_ XeFs +3H,0 21Xe0s + 6HF

a. Convert starting amount to moles. Show work.
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b. Use a mole ratio to calculate moles of the other substance. Show work.
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c. Convert moles to grams for final answer. Show work.
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